(b) Design a 4m long column (light gauge steel) to
carry a load of 160 KN. Take fy = 235 N/mm?.

Use two channels.
9. (a) Sketch different types of light gaﬁge sections. 20

(b) Two channels of 180 x 180 mm section with bend
lips are connected with webs to act as beam.
Thickness of the plate is 2.5 mm & the depth of
the lip = 25 mm. The beam has an effective span
of 4.1. Determine the allowable load per meter

run on the beam. Take fy = 250 N/mm?2.
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1. Explain the following :

(a) Plastic Hinge.

(b) Various loading on indu

(c) Failure modes of an Axi

(d) Colu

mn splice.
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(e) Local buckling.

2. Determine the collapse load for the continuous B

Section as shown in fig. 2

W

2|3 Mp

s L |

3. (a) Describe the mechanism of Plastic Analysis.

" (b) Describe theorems of Plastic Collapse.

4. (a) List the elements of industrial building.

(b) Symmetric trusses of span 30m and height 5m

spaced

purlins to be placed at suitable distances to re

the follo

Weight of sheeting including belts = 171 KN/m?
Line load = 0.4 KN/m?2
Wind load = 1.2 KN/m?

Spacing
Design t
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